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It can be inferred that the first case is one species and one dish, etc.

OVERVIEW

The X131 asked, since we established the &9°0 (of 7"970%71 X 12° 1) in a case of »
7R and two 7N, it follows that the X (of 197v¥M X 1) 1s by Mman AR 10
71X, so what is the novelty; obviously they are 77vx»n. Our M50 explains why was
not a similar inference and question asked by the initial explanation that we are
referencing the X1 (of 19701 TR 1°1)
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Previously the X731 did not want to ask, the inference from the X1 is that the

ND0 is by w0 1w v S1w, is it necessary to teach that they are not 77v¥n?! The

reason the X713 did not ask this question there as well, is -
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Because it did not want to elaborate unnecessarily, since that initial explanation

does not remain, it was replaced by the final explanation that 5"1 was referencing the x5°0
(but not the xw™).

SUMMARY
The X713 does not care to discuss at length a view that is not ultimately accepted.

THINKING IT OVER

Had the X3 asked moomn proposed question; is there a way to answer it;* if not
why did the X723 merely say, 131 X9 0K 71X 121 X X 7n; the X723 could have proven
that 5" cannot be referencing the X because of MvoIN question!

! Initially (on the '} T¥) the X3 assumed that the statement of 7" (regarding 72N '3) was to explain the w170 of
the Xw1 that 7R P is A7VX¥M even though it was 1"mmn 12, The inference being that the X5°0 which states that '22
111 they are not 77v¥A is where it is 7' '2 and 70 2. The same question can be asked on this inference; if it is 2
P and RN 2 it is obvious that 197vEA PR; what is the w17 of the X9°07?!

2If it is 1 "2 and PnnN '3, there can be no reason why they should be 770xn!

3 In the R3pon the R is AR MMAN IR 7o (the WTR is that My w %% A7 PR like 280903 127).

4 See X"wAnn and o nOW phn.
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